Calcula la derivada de cada una de las siguientes funciones:

l. f)=("-5x+6)"

1

2 IOy

3. f()=x(2x* = 1)
1

4. f(x)= 5

5. f(x)=3x—-3x*> -9
6. f(x)=(3x>+2) V1-5x

7. fx)= —2
4—x?

8. f()= %
1+x

9. f(x)=Lnx’

10. £ (x) = Ln( ¢ )
1-e*

11.f(x) = e"
lzf(X) — 2Ln(cosx)

13.7() = Ve*

14. f(x) = sen 2x

15.f(x) = Jsenx

16. f(x) = cos "

17. f(x) = cotg x

18. f(x) =secx

19. f(x) = cosec x

20. f(x) = cos’ 3x

21. f(x) = cosec x’
22. f'(x) = arccos Jx
23. f(x) = arctg (Ln x)
24. f(x) =tg’ 5x

DERIVADAS
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f(x)=sec’ Tx
f(x) = arccos a*
f(x) = cotg (sen x)

fx)=tg Vx> -1
@)=l

f()=Ln (Lnxj

x
S @)= e
f(x)=seny1+e"

f)=Ln(x-e*)
f)=da-x°

f) =5 e
f(x)=¢€""Lnx
f@)=Ln[(Lnx)’]
(x)=1Ln (sen x%)

f(x) = sen (arcsen x)
fx)=e "

f(x)=Ln (tg’ 3x)

Fxr) = e et D

7 (x) = sen [arctg (x> + 1)]
f(x) =Ln [arccos (sen x)]
f(x)=Ln (cos x) +x - e~
S =x"

f)=xt
f(x)=(senx)”
fe)=x"

Sx)=x¢

f(x) = (arctg x)"



Solucion:
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fa
f‘
fa
fé

Iz

fa
fé
f‘
fa

‘(W)=

N N

() =4 (x*—5x+6) 2x—5)

. —bx
= (x2 +1)*

(x) = 10x* - 3x*

_ -t
)=

2x

3Y(x% -9)?

x)=3-

3
< (%) = 6x ,1—5x2— 15x° +10x

1-5x°
4

]

() =——oro—
Ja=x)1+x)°

‘W=
X

‘)= —
1-e*

C(x)=4x° ex4

C(r)=-2"" tgx - Ln2

xZ

()= x-e
2
ex
‘(x)=2cos2x
()= cosx

2./senx

‘(x)=—¢€"-seneé’
Iz
Iz
Iz
Iz
Iz
Iz

x)=-1- cotg2 x=—cosec’ x

(x) =sen x - sec’ x
(x) =— cos x - cosec” x
(x) =— 15x - cos* 3x - sen 3x
(x) =—7x% cos x” - cosec® x’
-1
)= ———
2 \/x_~\/l -X
1

@)= x-il+(Lnx)2i

(x) =15tg® 5x - (1 +tg® 5x)

(x) =35 sen 7x - sec® 7x

(x) =

—-a*+‘Lna

1_a2x
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£ (x) =—(cos x) - [cosec” (sen x)]

C x-(L+tg’x* =1)
RN S

)= —a\/g ‘Lna
\/()c+1)-(x—1)3

. 1-Lnx
S =
x-Lnx

)= xeet
*.cosyl+e*

[ =2
241+ e"

1+2x2

S =

f@=a x*" (x-Lna+a)
fe)=5"¢"(2+Ln5)

fix)=¢""- (Lnx+lj

X
e, n_ 3
S x:-Lnx
£ (x) = 2x-cotg x°
cos (arcsen x)
[ = ——
1-x*

cosec x

£ (x)=—cosx-cosec’x - e

£ (x) = 6 (cotg 3x + tg 3x)

. B e arctg(x+1)
SOy
. 2)c-cos(arct§._{(x2 +1))

1+ (x% +1)°

S (x)= —1/arccos(sen x)

f(x)= —tgx+e™ - (1+2x)

@) =x[Lox+1]

S =" 2Lnx/x

S (x)=(senx)" - [Ln(sen x) + x - cotg x]
sen x

fC(x)=x*""[ecosx Lnx+ —]
x

)= x" e [Lnx+(1/%)]

[ (x) = (arctg x)*| Ln(arctgx) o
(1 +x )-arctgx



